Al (4t

ER/\ XDy TS5
E/VERAT > (Kt \RH—=FJ)U) — HLiRBRAT (dL2#E3) . 2
B2T
S = 5.2 5.5
8T
8 1.1 6.3 6.6
[Eap i
NET|8TH 2.0 3.1 8.3 8.6
YAV S
T—= 1.5 3.5 4.6 9.8 10.1
[SpEd o
L 10.4| 11.9] 13.9] 15.0] 20.2| 20.5
SRS
3 10.3| 20.7| 22.2| 24.2| 25.3| 30.5| 30.8
“hF [7890[ 1150[ 1350[ 1470| 1470[ 1470] 1470[ 1470
A ik 25.1| 35.4| 45.8| 47.3| 49.3] 50.4| 55.6| 55.9
Ei 200[ 890| 1150| 1350] 1470] 1470| 1470[ 1470 1470
7R 0.4| 25.5| 35.8| 46.2| 47.7| 49.7| 50.8| 56.0 56.3
TR 7200 200 890| 1150] 1350| 1470[ 1470 1470 1470[ 1470
- & 0.5 0.9| 26.0] 36.3] 46.7| 48.2] 50.2| 51.3] 56.5| 56.8
Fv72 [T200] 200[ 200 950[ 1200] 1350 1470| 1470| 1470[ 1470] 1470
B/ 0.6 1.1 1.5| 26.6] 36.9| 47.3] 48.8| 50.8] 519 57.1| 57.4
2201 220 220 220| 950| 1200| 1420| 1540 1540| 1540| 1540| 1540
TIEITC | R 1.2 1.8 2.3 2.7 27.8| 38.1] 48.5| 50.0 52.0/ 53.1] 58.3| 58.6
Br1T 200 240| 240 240| 240 950 1200] 1420 1540| 1540| 1540 1540] 1540
tA B 1.0 2.2 2.8 3.3 3.7| 28.8 39.1| 49.5| 51.0/ 53.0/ 54.1] 59.3] 59.6
T 200 240 330 330/ 330| 330| 1060| 1310 1470( 1580( 1580| 1580 1580| 1580
=/ 2.0 3.0 4.2 4.8 5.3 5.7| 30.8] 41.1] 51.5| 53.0] 55.0 56.1] 61.3] 61.6
RE5 200( 210 240 360 360 360| 360| 1060{ 1310[ 1470( 1580( 1580( 1580 1580| 1580
] 0.4 2.4 3.4 4.6 5.2 5.7 6.1 31.2| 41.5| 51.9] 53.4] 55.4| 56.5| 61.7] 62.0
NFE 280 280 330 360| 440| 440 440 440]| 1060 1310[ 1470| 1580| 1580( 1580( 1580| 1580
e [ 3T 1.8 2.2 4.2 5.2 6.4 7.0 7.5 79| 33.0] 43.3] 53.7[ 552| 57.2| 583| 63.5| 63.8
g 230 320 320 400] 420 490 490 490| 490 1170{ 1430] 1470| 1580( 1580| 1580| 1580| 1580
T 47 — 1.4 3.2 3.6 5.6 6.6 7.8 8.4 8.9 9.3 34.4| 44.7| 55.1| 56.6] 58.6| 59.7| 64.9| 65.2
RIS 2301 230[ 320 320 400 420[ 490] 490 490[ 490| 1170 1430] 1470| 1580| 1580] 1580| 1580] 1580
T 145) 0.8 2.2 4.0 4.4 6.4 7.4 8.6 9.2 9.7 10.1| 35.2| 455 559 57.4] 59.4| 60.5| 65.7] 66.0
Sl 230 230 230 320| 320| 400 420 490| 490 490 490| 1170| 1430| 1470( 1580| 1580| 1580| 1580( 1580
Al 0.4 1.2 2.6 4.4 4.8 6.8 7.8 9.0 9.6/ 10.1] 10.5| 35.6| 459 56.3] 57.8] 59.8 60.9| 66.1] 66.4
RHE] 5 230 230 230 230] 320| 320 400 420| 490| 490 490 490| 1170| 1430[ 1470| 1580] 1580( 1580( 1580| 1580
TE 0.2 0.6 1.4 2.8 4.6 5.0 7.0 8.0 9.2 9.8 10.3] 10.7] 35.8| 46.1] 56.5| 58.0 60.0| 61.1] 66.3] 66.6
/R 230 230 230 230| 230 320 320[ 400| 420 490 490| 490| 490 1170{ 1430] 1470| 1580( 1580| 1580| 1580 1580
BRmi 0.5 0.7 1.1 1.9 3.3 5.1 5.5 7.5 8.5 9.7 10.3| 10.8] 11.2| 36.3| 46.6/ 57.0/ 58.5| 60.5| 61.6] 66.8] 67.1
SR |RETS | EFH |HEFT |Heh |[BNE (BES | A |8 [(hEM |5 D> Db (Db |BEE |EEE |ASH Bl |BEAR (BEAR [EETE |ALIRER
BRei |TB |&mbx [siEd L Al |@l )L (B71T Fwvo |ahR (Hit [rEtte [E =l JAX |8TH |#@8T [@#2T [&n Bl (dt
Bl ') Fir— =/\ve (8 B/ 15 hog A—= =] =] 278




=/ \Zhy I8 VR
LIRBRAT 7 HFDOO(E - (EHFEER) — S/IWERA BRAT

Z=H] 5 530

i il v TQ 0.5

&b [T 230 230

THSZFTN 'ﬁfj 02 0.7

RI(EINT230] 230 230

HTTIT ) 0.4 0.6 1.1

g 230 230 230[ 230

Fv— 0.8 1.2 1.4 1.9

#IFE 230 230 230 230 230

C] 1.4 2.2 2.6 2.8 3.3

®R&E% 7280 320| 320 320 320] 320

A 1] 1.8 3.2 4.0 4.4 4.6 5.1

TV 7200 280 320 320 320 320 320

TIETTU M 0.4 2.2 3.6 4.4 4.8 5.0 5.5

BT1T 7 200] 210[ 330| 400 400|[ 400 400| 400

B 2.1 2.5 4.3 5.7 6.5 6.9 7.1 7.6

200 240[ 240 360 420 420 420] 420 420

2 hEm 1.0 3.1 3.5 5.3 6.7 7.5 7.9 8.1 8.6

FvT [T220] 240 330 360| 440[ 490 490 490| 490 490

e Al 1.2 2.2 4.3 4.7 6.5 7.9 8.7 9.1 9.3 9.8

18R 500 220 240[ 330 360 440 490 490 490 490] 490

T 0.6 1.8 2.8 4.9 5.3 7.1 8.5 9.3 9.7 9.9 10.4

EM 200 200] 220 240[ 330 360[ 440] 490[ 490[ 490 490[ 490

FRR 0.5 1.1 2.3 3.3 54 5.8 7.6 9.0 9.8 10.2 10.4 10.9

DK [T200] 200] 200[ 220[ 240[ 330[ 360[ 440[ 490[ 490 490 490 490

N - i 04 09 15 27[ 37 58 62| 80 94| 102 10.6| 10.8] 11.3

SEB [ 890[ 890 890 950] 950 950| 1060[ 1060 1060] 1170[ 1170| 1170[ 1170 1170

N E 24.9 25.3 25.8 26.4 27.6 28.6 30.7 31.1 32.9 34.3 35.1 35.5 35.7 36.2

IR 1150 1150[ 1150[ 1200[ 1200[ 1200[ 1310] 1310] 1310] 1430] 1430]| 1430]| 1430][ 1430

AF““" = 10.3| 35.2| 35.6| 36.1| 36.7| 37.9] 38.9| 41.0] 41.4| 43.2| 44.6| 454 458| 46.0| 46.5

IR 1350[ 1350[ 1350[ 1350| 1420| 1420| 1470| 1470| 1470| 1470| 1470| 1470| 1470| 1470

T=5 10.8 21.1 46.0 46.4 46.9 47.5 48.7 49.7 51.8 52.2 54.0 554 56.2 56.6 56.8 57.3

FaIfE 1 1470 1470[ 1470[ 1470[ 1540[ 1540[ 1580] 1580] 1580] 1580] 1580] 1580] 1580[ 1580

BHUA18TH 1.5 12.3 22.6 47.5 47.9 48.4 49.0 50.2 51.2 53.3 53.7 55.5 56.9 57.7 58.1 58.3 58.8

&8 1470| 1470| 1470| 1470| 1540] 1540 1580] 1580 1580] 1580 1580] 1580| 1580] 1580

AN IS 2.0 3.5 14.3| 24.6| 49.5| 49.9| 50.4| 51.0] 52.2 53.2[ 553 557 575/ 589 59.7| 60.1] 60.3] 60.8

&2T 1470| 1470| 1470| 1470| 1540] 1540| 1580]| 1580 1580] 1580 1580] 1580| 1580| 1580

LA | 5 1.1 3.1 4.6 15.4 25.7 50.6 51.0 51.5 52.1 53.3 54.3 56.4 56.8 58.6 60.0 60.8 61.2 61.4 61.9

A7 & 1470| 1470| 1470| 1470| 1540] 1540 1580]| 1580 1580] 1580 1580] 1580| 1580] 1580

DLs]ES 0.6 1.7 3.7 5.2 16.0 26.3 51.2 51.6 52.1 52.7 53.9 54.9 57.0 57.4 59.2 60.6 61.4 61.8 62.0 62.5
LIRER [BEx [BEX [mll (X8l %% |s&E D O [OhF |90 [EEE [BmEx |4 [BEg [80F [Bh |[mEm [T76 [&E5 (B0
B7E [@2T |@sT [sTE )2 |E B SBite [(Eits |-rpse [Fws BI1T |E—IL |80 waEr BI(E ek |TE  |ERA0

oniE 18 H HA—= fhog = B/ H /i Fr— ) Hil




